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This Question Paper consists of objective and subjective types of total 34

questions.
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This question paper has been sealed by reverse jacket. You have to cut on the
right side to open the paper at the time of commencement of the examination.

Check whether all the pages of the question paper are intact.
wk’g@?{g ENVICS) @?&Oﬁ&@aé BIRNTOCD @B;ﬁ@ﬁ %.roé.zpaw mwﬁﬁ%f@ 0O
Follow the instructions given against both the objective and subjective

types of questions.
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Figures in the right hand margin indicate maximum marks for the question.

B3 TS, 0T, LOBRILD 15 LR 59eHTIR) FeOTOZ, YWZOTLO INVTRZCHT
RBI0DTIY T,F e, 30l WoeRNTY, VeBNT.

The maximum time to answer the paper is given at the top of the question paper.
It includes 15 minutes for reading the question paper.
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88-EK (Level-2) 2 CCE RR

I.

3 NS @%ﬁ@ﬁ LTI WTRLIT JeYINOR SR 6303%71%'36% BRNT. ORINTY

1), ARTFTRT YOITHTY, B0, $TT T,BIFTRAONR FREdE LOFTHR) W0
10x1=10

Four choices are given for each of the following questions / incomplete

statements. Choose the correct answer and write the complete answer

along with its question number and its letter of alphabet :

1. SOBINTEY, BT ATNBTY ATO0T SRRTTT
(A) TR (B) eros%

(C) ©©OORCI0 (D) =T

(A) Iron (B) Steel

(C) Aluminium (D) Wood

2. TS 30300000 20RT'T AD0BO'T BRTLPNTE), STT & QOVYI VB

(A) &S QoW (B) TR, Q0RT*

oF

(C) 28 vous® (D) R Q0BT

(A) Diesel engine (B) Petrol engine

(C) Jet engine (D) Steam engine

ﬁ]] [RR(A)-(600)-13503] ﬁﬁ]
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F.H.P. (33 ToX°F TR0°) =

T

(A) ILH.P.-B.H.P. (B) B.H.P.+LH.P.

(C) ILH.P.+B.H.P. (D) B.H.P-LH.P.

F.H.P. ( Friction Horse Power ) = .............c........ .

(A) LH.P.-B.H.P. (B) B.H.P.+LH.P.

(C) ILH.P.+ B.H.P. (D) B.H.P-LH.P.

QDT (), Fpedees® (V) 3023 B,3Tpegs ( R) NONTIE How0R

A) V= (B) V=IR

~| = |~

(C) V= (D) V=I°R

The relationship between current ( I), voltage ( V') and resistance ( R)

is

=l
5
B
5

A) V= (B) V=IR

(D) V=I’°R &

(A) DA (B) ®TIR
(C) Hedwenw o (D)  ©9©2,E020300

ﬁn [RR(A)-(600)-13503] ﬁﬁ] [ Turn over
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Natural lubricants are made of

(A) Mineral Oil (B) Castor Oil

(C) Monograde Oil (D) Aluminium

6. 31 IWNTINIE IRV TOBEIF Irdeo FIIoD PLBHNG

[OfSE e

(A) BRI T (B) ADowT*

(C) 3aW=B (D) Q60T Bo=

Which of the following is a component of coding system in vehicle ?

(A) Distributor (B) Cylinder

(C) Spark plug (D) Water pump

7. DTINTYFT AT SOIRNOITLD YVTOIRENZIT B

(A) =T (B) <nes
(C) ©eORCI0 (D) =]F

(A) Wood (B) Metal

(C) Aluminium (D) Plastic
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8. WTBIT DT LQTR), WHSOWRLIETITT), o

o

A
(A) @3 30,000 3.20¢. (B) @3 35,000 3.200¢.

(C) 850,000 8.80¢. (D) &,& 45,000 3.Q0¢.

Vehicle air filter should be changed after every

(A) 30,000 km (B) 35,000 km

(C) 50,000 km (D) 45,000 km

.

The material used to wipe the roof of the car while washing the car is

(A) Sponge (B) Paper

(C) Plastic brush (D) Tissue paper

10. %03Q BrRdots [H[E AQHTT g

(A) 20T den BoTOMoS T

(B) 2028 eden 39,00 BMogas

0

(C) oI Fen DT

=]

(D) BOBI® T TITWITY, BROWITT

ﬁn [RR(A)-(600)-13503] ﬁﬁ] [ Turn over
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II.

If there is no coolant system in the car then

(A) engine cools quickly

(B) engine starts quickly

E

(C) the speed of the engine increases

(D) the temperature of the engine increases

BRTTHT YOFTROE WEITOH VSR 387 SR & ek

Fill in the blanks with suitable answer :

11. Q0BT ROOBT°S mﬁﬁaﬁg{

Diameter of the engine cylinder is known as ................. .

12. AO0RET* &TITT TP, NFR) RTODLI WFRIT T -ovvvevninn .

The device used to create cylindrical hole is .................... .

13, RCNRVRVDTRRD, (839, TRCICEIT®) QOWRAR  eevvvenrrnenerneneenennene,

of the engine.

14, TOTIT VOWT'S SCWTR), B9 BRBLD CUTSRNRT TGS .....coovr..

The device used to measure the engine oil in a vehicle is .................. .

ﬁ]] [RR(A)-(600)-13503] ﬁﬁ]
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III. 15. A-wéio;b@M BT TR WPINY Wao&aeﬁﬁe?s% Tone B-a’éic\baz vplsety]

T mc‘ssmfs& QCTERNT. @Qﬁe?aig{ BROR mgdﬂeéQ e iepbAchlaly
W30 : 4x1=4

Uses of automobile service devices are given in Column-A and

automobile services devices are given in Column-B. Match them

and write the answer along with its letter of alphabet.
e
A-TE3 B-T&3
E eJ eJ

Column-A Column-B
i) &éﬁw Tbcbéos P TREO® TFS a) Rgéw?ﬁ?
The device is to measure the specific Calipers
gravity
i)  Speder, QT T W B)STRBNTI) ¥ b)  T)[RRTT
TRED TS Hydrometer

The device is to measure the voltage,

current and resistance
i) SRONT DT DT W0DNY ©BOITBIY ¢ T03%*
P BTN TG Wrenches

The device is to measure the distance

between two opposing sides

iv)  QeDTZT ©0TTWS), 9P BREOD TGS d) Sodsoeest

The device is to measure precise Multimeter
measurement -
bl

T o)  [enmnTs

Tachometer

) Qe mﬁ@ﬂzf

Wheel balancer

g) x% nees®

Screw gauge

ﬁn [RR(A)-(600)-13503] ﬁﬁ] [ Turn over
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IV. 3:3NITIN9R 0301 :

Answer the following questions :

6x1=6

)
16. TRB3S (W@G#)ﬁﬁ%{ 339,83, QR
Define stroke.
17. R STTPS ABNT, Te3mnR.
e ~ L8 &3
List the types of stub axle. &
18. WRSFS ToOFRET0 ?
What is the function of chisel ? :
19. TOTIT BOVT® SONG* BT WISPWILI LWeTINOT YVTFTEMNTR), THOR.
Name the tools that are required for changing the engine oil in a
= vehicle. 2l
= 20. ©03 39 OB POHFBE ? &
§ What is the function of Blind spot detection ?
21, 500nYE TR B RE0R), BB W0 BOLcATER 03RT) ?
Who introduced the navigation system in cars for the first time ?
EaE g E\
V. 330 33’,@;71@?7? QoS0 : LTS 6x2=12

Answer the following questions :

22.

23.

FD° TS BT WWOA.

Explain flash point.
&30/ OR

TP, TOT* TP T W TINERY, WIT0W0.
Write the requirements of propeller shaft.

THFF I H0w0PATOS Bt SYNTIYRTRD DTOR :

PRNY )

@) o3mon
(i) Rwore

ﬁ]] [RR(A)-(600)-13503] ﬁﬁ]
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S

Explain the following related to suspension system :

[OF:

(i) Yawing

(i) Dipping.
&30/ OR

mgw@# L30T ACNR)TOTTH SRISh] eﬁmm@ﬁe;s% WO, =

Write any four advantages of tubeless tyres.

AR Hes’s wE, BT wdcdd.

Draw the diagram of screw gauge.
TR mémgwwe (T00CTT) TOXNOTY  WRTWOWIN  TWOODRIETIT NG
OB CIRR)R) ?

What are the steps to be followed for manual washing of a vehicle ?

26. 19,38 Fe50D 0D WOINTR), WICW0.
Write the important aspects of customer service. =
27. FODeTTIL YWY  [HIOID DI FWTT ROTFIR Ien
[BTOTRNG ?
How are the sensitive air bag systems helpful in the safety of drivers ?
R INS @@lﬁ@?ﬁ QO30 ! 4x3=12

Answer the following questions :

28.

TR 3,205 00 PEIBNST, Te3mNEB.
PRSY 3 ® S ed

List the components of the suspension system.

95559/ OR

QBT TPI0D AOBI'TY, (WIBF') AMITQLVIY ERCOROT  238,BIY
WIOW0. BRTI (RRQE) =R, TITIA. FRALE

A
2
5

Draw the diagram to show the British system of engine ( Piston)

displacement Label the part of stroke.

ﬁn [RR(A)-(600)-13503] ﬁﬁ] [ Turn over
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29. W[OO3N F0BREWITT (LT° FOX,BTF) urﬁ\ @37&95 QTCAD.

Write a short note on air compressor.

30. [OBIT VOB LOT* @5;% WTHOWFED LTI emw%dsaﬁe;s%{ QTO200.

Write the tools required for changing the fuel filter in a vehicle.
31. SEREEAW S TRTIMTI Few Fe08,BY, ABFLALIETT 03RRI
EE e
e300 53?5571%339% SPA.

service centre.

II. S3INTTInen wwgdr :

<

Answer the following questions :

32. TOTIT WRA'S W,TIY, W, B3 TINT GNNT) oSO

: g =
() R FOT 20T

(i) Ve e 3,08

o

Draw the diagram of chassis in a vehicle. Label the following parts :
(i) Propeller shaft

(i) Petrol tank

95559/ OR
méﬁ%as NPT T ST 238,330, LT, 83 FINT LTNNTR), MOTER :
&3 ~ =8 =4

(i) e:&éﬂ)@e e

o
&
13
5

(i) WS WT*

Draw the diagram of Lamoine type of stub axle. Label the following

parts :

(i) Axle beam

(ii)) Cotter pin

ﬁ]] [RR(A)-(600)-13503] ﬁﬁ]
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34.

11 88-EK (Level-2)
eﬁmemzﬁoeﬁ TR0, VT3P NI B3 TSNS mwﬁdmﬁ@é@t RO :

i Sows=

(i) 0, e

(i) Wrenches

(i) Mallet.
95559/ OR

2 BUNIPROR LT3 2S00 :
() ST 3 SRS WG

NS PT®

.o _.9
(11) Q"\)MQ} 16’

Write a short note on
(i) Universal clutch holding tool

(ii) Flywheel puller.
DT, &e8T (TRS0) wa& WHTOOWROTON 9ITOROTLIeTOT aoa’mfa’%
93, ]

Mention the steps to be followed to change the coolant in a vehicle.

=]
4
A
X
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